YEAR 13 PRACTICAL 3
WORKED ANSWER

	Time/min
	Absorbance

	
	Exp 1
	Exp 2
	Exp 3
	Exp 4

	0
	1.60
	1.15
	1.00
	2.00

	3
	1.50
	1.06
	0.89
	1.90

	6
	1.35
	0.96
	0.84
	1.80

	9
	1.20
	0.80
	0.75
	1.70

	12
	1.00
	0.64
	0.66
	1.60

	15
	0.80
	0.48
	0.56
	1.53

	18
	0.55
	0.20
	0.45
	1.44

	21
	0.04
	
	0.36
	

	24
	0.03
	
	0.24
	

	27
	
	
	0.14
	

	30
	
	
	
	


Gradients:
Experiment 1:
0.053



Experiment 2:
0.053



Experiment 3:
0.029



Experiment 4:
0.031

Exp 1 ( Exp 2; conc of iodine is halved, rate unchanged so order = 0
Exp 1 ( Exp 3; conc of propanone is halved, rate halved so order = 1

Exp 1 ( Exp 4; conc of HCl is halved, rate halved so order = 1

So rate = k[propanone][HCl]

